
 

 

Answer on Question#64510 – Chemistry – General chemistry 

 

Question: Calculate the final temperature of 245 mL of water initially at 32 °C upon absorption of 

17 kJ of heat. 

Solution: 

m = V·ρ;  

m (water) = 245 ml · 1 
𝑔

𝑚𝑙
 = 245 g. 

17 kJ = 17·103 J. 

The specific heat capacity of water is 𝑐𝑝 = 4.18 
𝐽

𝑔·°𝐶
. 

q = m·cp·ΔT, where q is quantity of heat. 

∆𝑇 =
𝑞

𝑚 · 𝑐𝑝
=

17 ∙ 103𝐽

245𝑔 ∙ 4.18
𝐽

𝑔°𝐶

 =  16.6°C; 

T final = T initial + ΔT = 32°C + 16.6°C = 48.6°C. 

Answer: The final temperature is 48.6°C. 
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